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1 Which of the following is an example of in-situ conservation?
(A) Botanical garden (B) Wildlife sanctuary
(C) Zoological park (D) Cryopreservation
Al Uhl 54 Gelae ymad damad &7
(A) olle-lset 2Ud | aidilfs Gaid  (B) aru®ad MeIasy

(C) el Anslan (D) sEiBzdan

2  Tropic of Cancer doesn’t pass through .
(A) India (B) Egypt

{(C) Mexico (D) Iran
sbad  pasidl waue Mg el

(A) ®llad (B) d@H
(C) #lwusl (D) S

3 Which of the countries is land locked?

(A) Turkey (B) Iran

(C) Ethiopia (D) Yemen

i 14 s 2ud eBw Geudl el [ 5490 20 s ol daddl d-s
dlss 87

(A) 24 (B) dau-

(C) Sl (D) uw~

4 Difference between day and night becomes longer, as one travels from
to

(A) poles, equator
(B) equator, poles
{(C) Tropic of Cancer, Tropic of Capricorn

(D) Tropic of Capricomn, Tropic of Cancer

CRIER ) il 2% WA 53 8 A A v Ud 9% dglad
Alqulzt fd a8,

(A) 4dl, [Ayaad (B) [Eyags, 4dl

(C) skax, Hs2ad (D) #sad, shad
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5  Most of the weather phenomenon takes place in

(A) lonosphere (B) Stratosphere
(C) Troposphere (D) Mesosphere
izt sioedl sl wzeizdl Hi oA 65,

(A) =ua-uBsuz (B) %zlauz
(C) 2rdiBsur (D) walRsuz -

6  Chmate of a place is dependent on several factors, which one of the following
15 most significant?
(A) Distance from Sea (B) Direction of winds.
(C) Latitude (D) Ocean Current
505wt oouird gauid wiats ulRsll uz slEd €l 8, R U4l 54 WBaa
Alell ay «laus 87 '
(A) elRaEl a2 (B) wast+l R

(C) =iain (D) elaud wawsl

7  Which of the following is not a tropical evergreen forest?
(A) Amazon basin
(B) Zaire basin
(C) South China
(D) All of above are tropical evergreen forest,
fldi B4l 54 [ayagdly wemer dlassy w0 47
(A) A ol
(B) 3= ol
(C) elas 4l
(D) Guilsa U4 o o [yaada wsise dasy g @,

8  Which among the following the leading timber exporter?

(A) Sweden (B) Japan

(C) Malaysia (D) Canada
Al A4 sl Ba Suadl asadl Al ay Mo 52 87
(A) 2€ls= (B) =Aqt

(C) welEaL (D) el
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World’s major commercial fishing grounds are located in
(A) cool waters of northern hemisphere in comparatively higher latitudes

(B) warm waters of the southern hemisphere in comparatively higher
latitudes '

(C) both (A) and (B)

(D) a widespread area nearer the poles

Fauet 3oy oy qudladl @l ui el 9,

(A) deriets dd Gl siain wadl Gt 4 uansl) wei
(B) deritcis da Glaw sada wae sl sloud-u 2 wawsl well
(C) Gualsd (A) »i (B) i

(D) Hdl-l +ws danddl Rz

The two oceans joined by Panama Canal are:
{A) Indian Ocean and Atlantic Ocean

(B) Atlantic Ocean and Pacific Ocean

(C) Pacific Ocean and Arctic Ocean

(D) Indian Ocean and Antarctic Ocean

wrtidL gl Flgdal 6 MR 5. |

(A) (e wewpir s sza-dls (B) wi2eudls a UlulEs

(C) URiEs 2 2uiBs (D) [Ee weuor »i si-abls
Shipki-Pass joins .

(A) Himachal Pradesh to Ti (B) Sikkim to Tibet

(C) Jammu-Kashmir to China (D) None of above

sllugl-wia) 2l A4 % B,

(A) Rwad wea 4 [Qee (B) [ulsy «l [amez

(C) owwy-sisla ol Al (D) Gudlsd U4 w3 -l

Which of the following doesn’t have a common boundary with Bangladesh?

(A) Meghalaya (B) Mizoram

{(C) Tripura (D) Arunachal Pradesh
Al U4l sy oy slvazy WA waesdl Agde 47

(A) Halay (B) [Gidlam

(C) By (D) 3sUue HBYL
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13 Which of the following river makes an estuary?
{(A) Kaveri (B) Krishna
(C) Narmada (D) Ganga
AR B4 £ gl Eluyu s vl seud 37
(A) #adl (B) s=u

(C) -tel (D) slau

14  Why is Indus Delta smaller than Delta of Ganga?
(A) Indus traverses a shorter distance than Ganga.
(B) Indus is not as broad as Ganga.

(C) Path of Indus is through arid area while Ganga collects more water
along its path to the sea.

(D) None of the above

Ryl yubBisien sun sisliue sl YuBiie sadi il 7
(A) [y «2l sion sadl 25t »iazdl wauz wiy &,

(B) [y €l sion wedl wdiell -4l

(C) [y €1l va 3ot [Breuzsl 8 ol 2o dsit wats vasdl 28 Wil awd
wiefl W 53 6,

(D) Guilsd U4l = kR

15 Which of the following is not recognized as a wetland under Ramsar

Convention?

(A) Chilka (B) Loktak

(C) Kolleru (D) Ramnad

Al W4 54w wnae dlldn dan wenaiAd Ry dedes adll wmde
3¢ ~#l?

(A) Rest (B) diszes

(C) siedx (D) ¥l
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India has 8 coastal states, but more than 50% of sea salt is produced in

Gujarat because:

(A) Gandhiji started salt movement in Gujarat.

(B) Low rainfall and relative humidity are ideal for the production of salt
through evaporation of sea water. :

(C) Kandla port exports salt.

(D) The salinity of sea water is very high near the Gujarat coast.

Uzl 8 Rl Brmaio uwdl 8, uig drald Ard 50% sudl avd eBwd

g ued & sie 3

(A) udlewsi aeudsl dlaidl anam 13 s3] edl,

(B) sl 42aute A wiua Gloped wwim eBuuislle swnlloant 54 sllsie
Gewien w2 »ued BRI Fedel 53 8,

(C)  Ssen oizidl sl s w8,

(D) e el Bl 25 eBad weldl waw qsl qud &,

Consider following passage: The climate of this region is continental type.
Natural vegetation is low grassland. Annual range of temperature is high
The areas produce lot of surplus foodgrain.

[dentify the region based on above statements.

(A) Savanna (B) Mediterranean

(C) Prairie (D) Boreal

WL g5 aldl st Radiadl susiiear vidly wsiaddl 8. geadl Al il
Hetdledl 8. anwuedl aubls el Glall 3. »u Freid) ag, atd sy e 53
&,

Buzel [Mdedl 43 »UHGd wEasd siav:

(A) el (B) opi [Ezail

(C) Wil Azl (D) siidlua

Which of the following statements is correct ?

1. Steeper slopes receive higher insolation (incoming solar radiation) than
flat area.

2. Amount of solar radiation received, at a place, decreases with height.

Answer choices :

(A) 1and2 (B) Only 1

(C) Only 2 (D) Neither 1 nor 2

ARl Bl G4 83 Rrus w3 87

L awef ay st Bredl wuie Braidl sl atud 3Bl (it e
[Elsi) dud o,

2. sy wowal, udl YRGBEA Heu GRud- wud w3 8.

el yigall:

(A) 1 %4 2 (B) i 1

(C) H= 2 (D) »i5 yo [

CSSC-GS-I-VRS-2016_A | 6 [ Contd...



19  Which of the following statements are incorrect about Oceanography ?
1.  Deepest trench in the world is Sunda trench.
2. Gulf stream is a cold water current.

Answer choices :

(A) Only 1 (B) Only 2

(C) Both 1 and 2 (D) Neither 1 nor 2
Al WL sy [ sl e wydl Reus ouod Wlg | wiel 87
1 gl el G4 sl yeel wud] 21 8,

2, uegel Wels &5t wiellAl waws o,

araioill ueall:

(A) ™t 1 (B) i 2

(€ 1% 2 63 D) i wa AR [ 31 Wi el

20 Arrange following rivers from south to north :

1. Krishna

2. Kaveri

3.  Godavari

4. Penganga

Answer choices :

(A) 2,1,3, 4 B) 1,2 3,4
€) 1,342 D) 3,2, 1,4

{3 eudd Aglxiid elael Gr dwsl suMl 2lsdl

1. s
2. #4dl
3. oleddl

4,  Yapidy
il yaigall:
(A) 2,1,3, 4 (B) 1,2, 3,4

(€) 1,3, 4,2 M) 3,2, 1,4
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21  Ecotone refer to
(A) Zone of junction between two or more diverse ecosystems

(B) Terrestrial part of the biosphere characterised by climatic vegetation,
animal type and soil

(C) Unit of energy flow in any ecosystem

(D) Functional unit in ecosystem

£4121 Al ALGHML B,

(A) o tual aqd AfEmysl uBEasda az-n doreids ) B

(B) wataize-l yilFEa/ wll-dl oo % g, arul, welsidl sz wa
il aileuy 9,

(C) S8 ugt uBaadanl addl G-l A,

(D) uBaadstui-l slows wisy

22 Consider following statements:

1.  Bio-magnification refers to an increase in the concentration of a
substance as we move up the food chain.

2. Bio-concentration means concentration of substance builds up in the
tissues by eating contaminated food.

Correct statements is/are :

(A) Only 1 (B) Only 2

(C) Both 1 and 2 (D) Neither 1 nor 2

AAldel a2 el

1 %[Es Redee ied - %4 2048 sielz sviel Guz wdal @l ax ueld)
gl Whmetul qHEl iy B,

2. las d-dlsan wed - ved) s wiem glid Wi wudd ellaig

WL YN B,
w3l [yl ©:
(A) A 1] (B) waA 2
(C) 1 e 2 ois (D) #is wa Al

23 A high demand of biological oxygen indicates
(A) Low level of microbial pollution
(B) High level of microbial pollution
(C) Pure water
(D) Absence of microbial action
%[as Wyl “ioml audl Hud 9,
(A) 3o bl uenad 19 2 (B) s waugdly wened Gy
(C) %s wsl (D) 3w sl Busd dewedl
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A lichen is best characterized as a symbiosis between

(A) Bacteria and fungus (B) Algae and bacteria

(C) Fungus and algae (D) Algae and moss

it (s wsia-dl sBug a-li) s 438 qewansdl Gry sl
.

(A) @ »id g3t | M2l w4 g

(B) deum »id 2walg] | »uell wid sis2Fu
(C) &3 2 A | g2t 2+ wuell

(D) dlum wie dle | wiiesfl w4 sy

Coral reef is not seen in ]
(A) Palk bay (B) Gulf of Mannar

(C) Gulf of Kutch (D) Gulf of Cambay
UL YAl Wil Al wdL -l

(A) wes widl (B) Halal »uild

(C) 5%+l »ivild (D) visiddl Huild

Which among the following areas are biodiversity hotspots in Asia?
1.  Eastern Himalaya

2. Indo-Burma

3. Western Ghats and Sri Lanka

4  Sundaland

Answer choices :

(A) Only 1 and 3 (B) Only 1, 2 and 3
(C) Only 1, 2 and 4 (D) 1,2 3and 4

Al sl sudar s Bl SRR 02 Wy He-lglzaiie
ABY, BT

1. ydly [Raes

2. Hril-a

3. ulBEz w4 sllds

4. Yl A

areiotll usegall:

(A) uit 1 %4 3 (B) Mzt 1,2 %43

(C) a1, 2 =i+ 4 (D) 1,2, 3 =4 4] d3H
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Which of the following is a green house gas but not an ozone depleting
substance?

(A) Chlorofluorocarbons (CFC) (B) Hydrofluorocarbons (HFC)
(C) Sulphur dioxide (D) Carbon dioxide

Al A4 sl quy sllw e16Y Sl B wig ol 2 sruntsizs veid =dl?
(A) seidsdliisedn (l=isdl) (B) sifisleclalsi (Sumiexl)
(C) wuesx ylzs (D) siei- ls1sy

Preamble of the Constitution of India, is inspired by Constitution of

(A) Russia (B) France

(C) USA (D) UK

GlaceAl S1EIRSIAL 2L M2 AL Bael sluzeiel Heeu dasi sudl 87
(A) =[E (B) #1=

(C) yanai. D) 33

Central Vigilance Commission was setup on the recommendation of

(A) Administrative reforms commission

(B) Gorwala report

(C) Kripalani Committee

(D) Santhanam Committee

Al elememt s gy dbeidl sudoedl sadl saml wudl,

(A) adladl yuize wudlol (B) sllaauer fdi2
(C)y  guenell B[ (D) #Aainw ¥l

Which is incorrect statement about un-starred question?

1. Tt’s distinguished by an asterisk mark

2. Answer to such a question is given orally

3. Answer to such a question is not followed by supplementary question
4. It doesn’t carry an asterisk mark

5. Answer to such question is given in written form

Answer choices :

(A) 2and 3 (B) 3,4 and5

(C) 1and2 (D) 2,3 and 4

[Biot-cllRiBet ua s 54 Rt vilg 87
wl wls geedl witdl sloll usy 8,

1.

2. WAL Wael e i A stuy 6,

3. WAL UERAL WAL wUs Y2s Wa Bieaadl e,

4. A4 46 i-*E.El S il e,

5. Al uaedl s Afd 93l sy 8,

galeu [asall :

(A) 2 i 3 (B) 3,454 5
€C) 142 (D) 2,3 =4 4
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Conditions of services of members of All India services are determined

(A) President of India {B) Constitution of India
(C) Parliament of India (D) UPSC
g2l wie Slreu aEalaq uedidl Aaei-dl sadl 458 s2aml »0a
2
(A) ®lzd-l eyl (B) ellzds #4128
(C) ol e (D) Yyl

The Comptroller and Auditor General acts as friend, philosopher and
guide of

(A) Public Accounts Committee

(B) Estimate Committee

(C) Committee on Public Undertaking
(D)  All of the above

szl B w22 gy = Al [iat, draffids 24 weleds ddd

s 53 B,
(A) omda [Raum wululq (B) =iz wu[
(C) ond2 Al 1804l afd (D) Guilsd 94 dxin

Money bill can be introduced in the state legislature only on the
recommendation of

(A) Speaker (B) Finance minister

(C) Chief Minister (D) Governor
Hiz Al oreunmell o wwudl Eamaeuul Al Ba 2o 53l asi,
(A) w»dlsz (B) auisl
(C) Husdl (D)  wrHwE

The constitution says that the state council of ministers hold office during
the pleasure of the Governor. The words “during the pleasure of the Governor”
in reality means: ¢

(A) Pleasure of the President

(B) Pleasure of the PM

(C) Pleasure of the Speaker

(D) Pleasure of the Legislative Assembly

siel v 5 5 Al Wofl-ufne @ne s aadz e o B
WRE 530 Uk B, (@ 2lg S e Asel VAW WA iy
23

(A) wgulasdl 2l (B) uaofl-l =iqula

(C) [Efmrmoust stpsledl »iqulin (D) [FEusuoudl =qul
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Find the incorrect Statement -

(A) Adjournment means an interruption in the normal business of assembly.
(B) Prorogation means the end of the assembly.

(C) Dissolution means the end of the assembly.

(D) None of the above.

wilf [ skl

(A) ‘uoll Hisgl »led [Raunweudl asu sl Bay adl,

(B) =l @i #led [EHiueudl »id »uadl,

(C) [BEaw- »zd E4i-ueudl »id »uadl,

(D) Guilsd L4 #i3y 4l

Under which of the following circumstances, the governor can reserve a
state bill for the consideration of the President?

1. Ifit is ultra vires

2, Ifit is opposed to Directive principles of State policy

3. If it endangers the position of the state high court

4. If it is dealing with compulsory acquisition of property under Art. 31/A
Answer choice :

{A) 1, 2and3 (B) 1,2 3 and 4

(C) 2and 3 (D) 1,3 and 4

A3l G4l g1 Aoploll, i Wadl WweuRHl Bauzel wE siemd el
kB 7

oy

. %l o #Ariiellel [ Aol stalae €l
2. oA d uwd Al FEas Reididl B da
3.0 %l d urtrl G2 g vaugd da.

4. o d onaedl set 315 dsa Brasarl s3lrud Auled susdr diu,

el [dgedl:
(A) 1,2 = 3 (B) 1,2, 3 » 4
(C) 2 24 3 D) 1,3 =+ 4
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37 Inter-state council consists of
1. PM
2 CM of all states
3. CM of UT with legislatures
4 8 union cabinet ministers
5 Administrators of UT with legislates
Answer choices :
(A) 1,2, 3,4and 5 (B) 1,2, 3 and 4
(C) 1,2and3 D) 1,2 3and 5
Wiy urd wBEveul A woudd W4 Sl Awdn ay &7
1. WHL=pi=ll
2, A Rl el
3. MG WAL Bl wRslAl quapisflai
4. 8 ylRus dofldz daflwil
5. bewalfid uEa-L HEwed Wd adlazeis)
araivill [Asedl:
(A) 1,2 3 4245 B) 1,2 3 %4
(C) 1,2 %3 Im) 1,2, 3 24 §

38 Zonal councils have been established by
(A) Article 263
(B) States Renrganisatiun Act
(C) Zonal Councils Act
(D) An order by the President of India
e sGhadl _ dsm uddl Sy 8,
(A) »ulBsa - 263
(B)  uwd Yrtoiset WAl - ¥z Jaldl-uddaq ws2
(C) Zi1a b w5z
(D) suzanl wpdli goel
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Sachar committee report deals with

(A) Indian federalism

(B) Economic development of the backward regions
(C) Indian Muslims

(D) OBCs

Wz AMRAL sl A @adl 8,

(A) oudly uxdddn (B) usld [Azcislen »4lis Qs
(C) curdld yueminl - (D) i wisid Rl

Which of the following states doesn’t have a Vidhan Parishad?

(A) Bihar (B) Maharashtra
(C) Uttar Pradesh (D) Tamil Nadu
Aldietl U4l s 2oanl @ae uBye «dl?

(A) [uex (B) =g

(C) fmauza (D) alMa-ug

Zero hour in the Indian parliament starts at A
(A)Y second hour of the sitting (B) last hour of the sitting

(C) 12:00 noon " (D) No fixed timing
olacly Hael g sl a3 w8,

(A) 5iss 913 2ui-L ollen seud C(B) Slssel Bedl salk
(C) &MY 12,00 sk D) 415 FlEd 2uu @l

Which among the following is not guaranteed by the Cnnstitutic;n of India?

(A) Freedom of movement throughout the country i

(B) Freedom to assemble peacefully without arms

(C) Freedom to own, acquire and dispose property anywhere in the country

(D) Freedom to practice any trade or profession

Al Dol 58 ousied ozl siHIRSAHL vl BaiHl sidl «Hl?

(A) #M3 suMl Y [Baese

(B) sz qoz ailayel dla dei eradl | con waidl wadstdt

(C) Zudi 515 w2 i (Basd e s, Aued szl »iq dyadl
Rl stedl

(D) &85 el auiz ¥ 44l svaidl @dedl
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43 Which of the following pairs is incorrectly matched?

44

45

(A) Central Government : Union List

(B) Local Government : Residuary power

(C) State Governments : State List

(D) Central and State government : Concurrent List
Al G4l 56 9l wid 87

(A) #% w512 @AY el

(B) clse-auls A2 : AN Al

(C)  wud H2sEL ¢ 2oy yigl

(D) &% 24 2w dqesldl : wuadl wel

When proclamation of emergency is in operation, the duration of the Lok
Sabha can be extended for a period of

(A) Not exceeding 3 months (B) Not exceeding 9 months
(C) Of one year at a time (D) Of two years at a time

Iy 5252l dlnal el da Ul disuousdl wnousll _ wwy
aoildl asi 8,

(A) 3 sl ay «f (B) 9wl ay «[
(C) #is amd »is qu (D) s aud o af

Delimitation of constituencies and determination of constituencies reserved
for SC and ST are done by

(A) Election commission

(B) Delimitation commission

(C) Planning commission

(D) Election commission with assistance of Delimitation commission.
ALY AR 2 Bt w0l 2 SAetisiel o8l et Rzcudl] dluise 244
oissl sl saaudd sl 4) @,
(A) #eell uy

(B) *lsls

(C) »udloy- un

(D) lMisd Qa- wedioel Gzell Gy
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Which of the following committees of the Parliament has no members from
Rajya Sabha?

(A) Public Accounts committee

(B) [Estimates committee

(C) Public undertakings committee

(D) Departmentally related standing committee on finance
“Aldel G4 duedl o wBRal wornuounidl 8 wedl 4dl did?
(A) =wndz [Raus aEE

(B) =izl wfMA

(C) ez s+l Al

(D) [Eousll dsifid rsl susid-dl =udl sk

Power to decide date of an election to a state legislative assembly rests with
the

(A) President of India (B) CM and his‘her cabinet

(C) Election commission of India (D) Parliament

UrAl [Ruuou-l geslldl adlvg sl szaell amt — wdl 8,

(A) eud-l eyl (B) ol 2t asdl] dglll Soflviz
(C) ®lree zell uy (D) #ue

Brent Index is associated with ;
(A) World shipping volume (B) Gold future prices

(C) Copper future prices (D) Crude oil prices
Bir2 Gl W Asmude &,

(A) acs Bifio dieyy (B) olles syu3 W
(C) sz sy Wy (D) 4 2Ada wied

are not extinguished by immediate consumption, but they undergo
wear and tear with gradual use and require repairs and replacement.

(A) Intermediate goods (B) Consumer durables
(C) Giffen goods (D) Superior goods

dtesiles quuasl weny 4o wdl +4l, yiq Add qutasl 2uEl W
B ol dMaRuasE wid sisaaidl w3n ul @,

(A) aadl suamsmdeenildsie o
(B) &y suive

(C) B 214

(D) M4z 3
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50 Reserve Bank of India is
! Lender of the last resort,
2 Guarantor of commercial banks.
3 Regulator of Banks.
Answer choices :

{A) Only 1 and 2 (B) Only 2 and 3
{(C) Only 1 and 3 (D) 1,2 and3
Bod o5 »lle Ol o0 8,

1. [FBruwddl dedl Rsey

2. almlrus oisdl sl dli2z

3. olslel stisy Gu [FAse v daal,

ogeot-l yieall:

(A) it 1 =i 2 (B) st 2 i+ 3
(C) ™t 1 =i 3 D) 1,2 w1 3 dwn

51 Capital receipts of the Government of India does not include
1.  Acquisition of land, building, machinery and shares.
2,  Sale of treasury bills.
3. Grants received from international donors.
Answer choices :

(A) Only 1 and 2 (B) Only 2 and 3
(C) Only 1 and 3 (D) All of them
ollad #asiaedl il suas | Blza BRrewl Al wuda gdl -l

1. ol Haiddl, wiBs qaamis 2 30 duled

2. [awdl ollelg dam

3. wiclY Bl d2sdl oG s/ U2

il wesll:

(A) A 1 =+ 2 (B) s 2 i+ 3
(C) ™t 1 »id 3 (D)  Gualsd dxis

52 Which of the following is/are considered “Paper tax” ?

(A) Estate duty (B) Wealth tax

(C) Gift tax (D) All of above
A U4l sfsa v 2a oluy 87

(A) =izz fd (B) [iasa 431/ deu 28
(C) Digz 2a (D) Gualsd dxe
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53 Which of the following is the most appropriate measure of a country’s
international competitiveness?

(A) Current account balance (B) Balance of trade
(C) Real exchange rate (D) Nominal exchange rate
sl szl wurlonsdl 2 A 340 sl uds wWiell oy 97
(A) 4372 w510 bld-n
(B) cld-u 3ils 24
(C) awdlds Ry eaf flug edier 32
(D) ~tgpdl [y g3 Alida SAader 32
54 The most important function of money is .
(A) Standard of deferred payment (B) Measure of value
(C) Medium of exchange (D) Store of value
eld vy sl @,
(A) [RdBid ysasll vz (B) (axg/daudl) Baer iy
(C) Ry sy (D) DBuadl d3e/ ¥ s dey

Ln
th

(A)

(B)

(©)
(D)

“Overdraft Facility” means

Bank gives credit to a businessman against his current assets such as
stock of goods and unpaid invoices.

Bank allows client to draw cheques in excess of the balance standing
to his credit.

Bank lends money to client by purchasing bills of exchange.
None of above

“ollangize WA wd iy @

(A)

(B)
(©€)
(D)

a5 Al dll Aleyeuid mesumdl Fdl ¥ saanid i Gz Bl il
[Bae »uy &,

615 AsE il ViclHl %ML 24 52l a3 syl As q2laal @,
as s Wl EFmadl ol wilda dn Al {3 8,

Gusd U4 wis um AR
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Consider following statements about “Margin Requirement” :
. It is one of the qualitative tools of monetary policy.

2. It is the difference between the value of security and the amount of
loan granted.

3. If central bank aims to expand credit, it should reduce margin
requirement on loans.

Answer choices :

(A) Only 1 and 2 (B) Only 2 and 3

(C) Only 1 and 3 (D) All of them

“uizd afaia’ A & Ul s RHm @) b 7

L d rsudla Al seuces wudd 4 Ay wvgs 8.

2. d wesdHdl Bad 244 2ude Bueasd w5 9@l dsiad 8.

3. ol e elsed asd (e qurand i dl adi RBasy dig wadl wede
w3l saisdl Al

araitt-ll waigsll:
(A) M 1 =i 2 (B) Mz 2 i 3

(C) A 1 24 3 - (D) GuILsd dxM

Which of the fnlluwing. measure(s) can be used to correct a negative balance
of payment?

(A) Import substitution policy

(B) Revaluation of currency

(C) Purchase of additional special drawing rights

(D) All of above '

T L4 2/sa wadoiel ysasl 4sricis A8 el o A/ A5ida
SE Hils Udezd Uy 234l o] sy ?

(A) Snil2 aordlagust il

(B) sl Yryedis/ Ndeymiaq viig sl

(C) adiznl 2A[ua Jdo uday vileal 1

(D) Gusd duiy
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Indirect taxes

1. Are regressive in nature.

2. Do not promote civic consciousness.

3. Have adverse effect on propensity to work and save.
4. Can be used to promote production and investment.
Answer choices :

{(A) Only 1, 2 and 4 (B) Only 3 and 4
(C) Only 2 and 4 D) 1,2 3and4
u3ls 431 Bl :

Lo dsifla wslt wad &,

2. RS UGl Wickig ddl 4l

3. Gad s oRud sa-l s Guz [Budla wan 2 8.
4. Gewe wid s Wl ival Gudlal 53l ass
el uisoll:

(A) M= 1, 2 244 4 (B) st 3 47t 4
(C) st 2 i+ 4 D) 1,2 3= 4

What is/are the consequence(s) of deficit financing?

(A) Inflation

(B) Change in the pattern of investment

(C) Forced savings

(D)  All of above

i e 36l siful=iomi 5wl sudl o7

(A) &oual (B) szl Jdixi =ems 2
(C) &3Brud sdl (D) Gualsd amx

Which of the following department oversees the production of CETEnCy
notes and coins?

(A) Department of Financial Services

(B) Department of Economic Affairs

(C) Department of Revenue

(D) None of the above

“Alél 98l sl Roust weell i1z wid RSl sy Gousd 59z 2wiu
B

(A) ~tienfly dar ot (B) ulls susidil FEsus

(C) “dna [Eeus (D) Guz U4l 215 ya R
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Special benefits under Pradhan Mantri Jandhan Yojana-PMIDY
include(s) :

1. Overdraft facility to all Jan-Dhan accounts of a household.

2. Life insurance of Rs 30,000/,

3. Accidental insurance upto Rs.1 lakh.

Answer choices :

(A) Only 1 and 2 (B) Only 2 and 3

(C) Only | and 3 (D) Al of them

WLl ottt dloel - dlsiud e s i dlelldl HMda
T

[ 48501 MM ettt il sllaagise woiay) dleldl
2. 3. 30,000/ il wa- il
3. 301 et 3l siswud dli

il ydgall:
(A) = 1 A 2 ' (B) i3l 2 @i 3
(C) ™int 1 i 3 (D) Guilsd duiy

Which of the following is/:re the exclusive tax(es) of the State Governments?
(A) Stamp duties on cheques and promissory notes

(B) Taxes on sale and purchase of newspapers

(C) Taxes on mineral rights

(D) All of above

Al U4 s Gl wwd wasdil dldieyRader 4 67

(A) s = Wbl iz Guadl @ g

(B) estusil=ll a0 w4 wildl wael daumil

(C) rllog(essl) vl dusil

(D) Gutsd aun

Sangam literature gives us useful information about history of South India
during the reign of ;

(A) Cholas (B) Cheras

(C) Pandyas (D) All of the above

Hom i wysn UMAL 50 BRAAAL B[EEL MlrdeAl SRl
Guipll wilkdl 2wl &,

(A) e (B) A

(C) Misu (D) Guilsd dun
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‘Rajtarangini' gives a reliable history of i
(A) Gujarat (B) Punjab and Bengal

(C) Kashmir (D) Maharashtra
Bl suvsd 1 SReredl Bae wa 8,
(A) 9lerald (B) sst wiA sidum
(C) sl (D) etz

In most of the Indus seals, there is representation of

(A) Tiger

(B) Elephant

{C) Humped Bull

(D) Humpless Bull or Unihorn Bull

iz euedl By sgsit i Risdl %l wd B,
(A) am

(B) wdl

(C) vitauoll sywd

(D) W4 Q3L 2Armel mal wis sllogael vl

The most important industry at Lothal was .
(A) Ship building (B) Bead making

(C) Pottery (D) Terracotta

Ale Wid 51 wel o Ml Gellol gl

(A)  asle siysy ' (B) wausl si-igz

(C) el aimsil (D) usddl WAl yE=l- 222

Which feature does not indicate the technical skill of artisan in the Indus
civilisation?

{A) Use of kiln-burets bricks

(B) Potter’s wheel

(C) Boring of hard beats like carnelian

(D)  Use of sun baked bricks

[y dagll s qas adlodiu dibls Slaet yaadl ddl?
(A) ®gHl wsadl 62l

(B)  Zmuzel ulsil

(C) =sls ol Wwe Yelddl sl uidal

D) Al s usdell ©50
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Upanishads are bookson
{A) Religion (B) Philosophy

(C) Yoga (D) Law

GuHMel =L [Ewus sidl 8,

(A) ud (B) drastid
(C) Ao (D) sEl

First Tirthankar according to Jaina tradition was

(A) Hemchandra (B) Sthulbahu
(C) Rishabh (D) Neminath
el WU AL e dlds s 8.
(A) el (B) Mol
(C) s (D) AB-un

Principle that distinguishes Jainism from Buddhism is the
(A) Eight fold path
(B) Rejection of the infallibility of the vedas
(C) Attribution of a soul to all beings and things
(D) Belief in rebirth
[agld ¥ w3 sllg 3iell seol wi 8.
(A)  (me1) @218 13
(B) dsimi musysuddl »adlsi
(C) @il o4l al i drquilul 2ifREda &,
(D) Wil >zl

Who made the greatest contribution in organising the Kisan Sabha movement?
(A) Swami Sahjanand Saraswati (B) Vallabhbhai Patel

(C) Jawaharlal Nehru (D) Indulal Yagnik

Bairt wow wilglad @osi s16 Al H1g dioein 204 ?

(A) zandl deendde dzzadl (B) acamons u2e

(C) ~audcid iy (D) drgeud wulas
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Which of the followi g was not a recommendation of the Simon Commi ssion?
(A) Establishment of a responsible government at the Centre

(B)  Scrapping of diarchy in provinces

(C) Reservation of seats for depressed classes

(D) Grant of federal structure to India

o U4 st sBiamedl 58 came “Aedledl ?

(A) 3% saua ais waser dasiadl Ul 53]

(B)  iciHi Byl snud ugl 22 s34]

(C)  sasen] eun ol WB wepid dsd)

(D) otizadt 2l s aapyg

Which of the following event was the last to occur?

(A) Cripps Mission (B) Simla Conference
(C) Cabinet Mission (D) Naval Mutiny

Aot 84) 52l ot 2fiell Bed sl ?

(A) G (aiw (B) [Gisen »1fduq

(C) slldz Biaw (D) euadly FEm R

Who played important role in bringing the Congress and League together in
Lucknow Pact, 1916?

(A) Lokmanya Tilak (B) Dadabhai Navaroji

(C) Subhashchandra Bose (D) Annie Besant

aviefl AR-191641 Adiat w1 ello diog 52U G191 Hegraedl ool el wd)?
(A) dlsmiry Zlus (B) Eilous) -ezie

(C) Houras sl (D) -l sju-2

Through which of the following, was the partition of Bengal subsequently
annulled?

(A)  Morley Minto Reforms, 1909

(B) Report on Indian constitutional reforms, 1918

(C) A proclamation made by the King during Delhi durbar in 1911
(D)  Montagu-Chelmsford reforms, 1919

Al W4 465 suotd wud Bed sisyumy BUIEL 28 sRAML ey ?
(A) Hé B2l y4131-1900

(B) cuadlu siwasm whuz mdaua-1018

(C) 191131 RBedl eouz aud wmat s3ell dvey

(D) #il22y- uglin yuia-1919
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Which of the following dance forms are correctly paired?
I. Kuchipudi ; Andhra Pradesh
2. Kathakali : Kerala

Answer choices :

(A) Only 1 (B) Only 2

(C) Both 1 and 2 (D) Neither 1 nor 2
Al U4l sl 55 ol Wil 7

Lo gy : »iduea

2. susel : kg

o waigall :

(A) Hin 1 (B) A 2

(C) 1 A 2 84 (D) 1 =4 2 U4 =% -z

Panchmahal Bhil Seva Mandal was organised by

(A) Mahadevbhai Desai (B) Vallabhbhai Patel

(C) Thakkarbapa (D) Ravishankar Maharaj
a2l dateld ol Hal s sl saaml we o,

(A) HetRdausd sad (B) acamolld yig

(C) &ssasidL (D) =asss sezw

Indian Home rule society was founded in London by

(A) Shayamji Krishna Verma (B) Madam Bhikhaiji Kama
(C) Lala Hardayal (D) Vasudev Fadke
alat @l Ol i 3 Al =gl sseml sidl edl,
(A) 2uHgp 5w aul (B) Wy allwim s
(C) el gy (D) aea s6

Who among the following did not participate in the “individual Satyagraha”
in Guijarat?

(A) Maniben Vallabhbhai Patel (B) Morarji Desai
(C) Dr Chandulal Desai (D) Sardarsinh Rana
UL il S8 “aBadnd acume’ Ml ool dldl 4did?
(A) ™eilsi qeasion: yiy (B) iz Zad

(C) 4. dzeud 2ad (D) wzelBie 2y

Which of the following is incorrectly matched?

(A) Patan : Sahastraling Lake (B) Dholka - Malaav Lake
(C) Jamnagar : Navghan Well (D} None of above
Ald-midl 56 % Widl §7

(A) wea : asslEs doa (B) HitMsl : Hena e
(C) A2 : Aauzl aig (D) fuzdsd U4 =13 M
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Which of the following is incorrectly matched?

(A) Champaner Fort : Pavagarh (B) Rohtas Fort ; Bihar
(C) Daultabad Fort : Maharashtra (D) Janjira Fort : Assam
Ald-niedl &5 of1d WA 37

(A) Aiwnz-l el : waaiz (B) sty Redl : B
(C) Addioue Bedl : waae (D) %= Beel : »iaun
Rockeut Temple of Mahabalipuram is located near

(A) Madurai (B) Rameshwaram

(C) Chennai (D) Tanjore

usteielyaug wesidl said (s 52) iRe WE g 9,
(A) Heud (B) adaay

(C) aad (D) dioflz

What is the purpose of adding baking soda to dough?

(A) To generate moisture (B) To give a good flavour
(C) To give a good color (D) To generate carbon dioxide
setsdlz etaand da Ay Glaadl 4l dg 87

(A)  ofl-us giqal (B) 213l ddord 2yal

(C) A3l 331 2yal (D) »duRay Uel s2a1

Regarding blood-transfusion, consider following statements

I. Group “O” is considered universal receptor and AB is considered
universal donor.

2. IfRh-positive blood is given to a patient with Rh-negative blood group,
he'll survive first time but die on second transfusion.

Correct statement(s) is/are

(A) Only 1 (B) Only 2

(C) Both 1 and 2 (D) Neither 1 nor 2

Heldl AaagqHl susidul DA Rl e 6

Lo il A wdBis wdlsizar win el dBls sian sasd »1a 8,

2. ol W A9 saou Yuadt s8R suasia Wslda sas uaqani
U4 dl d WAH aud WA 46 #d wig ollw aud didl usiad Yy yindl,

I ETR CUTERERTRE N

(A) M 1 (B) #un 2

(C) 1 =4 2, 6 (D) s v AR
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85 The only physical quantity whose unit does not follow a metric system
is ;

(A) Distance (B) Mass

(C) Current (D) Time

w5 olffs Mol 3 @l AsH ARs el wiqEadl dl £,
(A) id2 (B) &

(C) dlw wale (D) uMy

86 When a cube of ice floating on water in a beaker melts, the level of the
water in the beaker

(A) Rises (B) Falls
(C) Rises at first and then falls (D) Remains unchanged

oy ollsaul ddl szl 2sdl wellal wlod € cud sllsanl welld
R

(A) G »ud/ ad 8.

(B) I3 wu | 4z B,

(C) uzvtaul GE wnwal & wdl 14 = =2 8.
(D) i 518 33812 udl -4l

87  The most common use of ‘silicone hydrogels’ is in manufacturing of

(A) Surgery Equipment (B) Contact Lenses

(C) Breast implant (D) Capsules of medicines
Ad-uniedl 58 azgf Al st w2 FRSH adfige’-lL Al au Gudia
iy 8 7

(A)  atzsiisil o3l Akl (B) w252 A=

(C) it Huaurs (D) aelizl el Humen

88 Most prevalent inert gas in Earth's atmosphere is

(A) Krypton (B) Radon
(C) Argon (D) Helium
wedleil atcttael Wil ay MBx iy 8,
(A) i (B) -

(C) @ualin (D) [aldus
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On what principle do Hydraulic Brakes work?

(A) Casini’'s Laws (B) Archimedes Principle
(C) Newton’s Laws (D) Pascal’s Principle
SO a5 s Bigld vz 8 53 87

(A) Bl (Rl (B) »ulEldnl Fieid
(C) wyesiel [Ranil (D) wsasdl RBigid

A cotton wick dipped in pure honey when ignited with a matchstick
will .
(A) Not burn at all (B) Burn with cracking sound

(C) Burn consistently (D) Burn with much smoke
Yo HuL oliddl 3yraal wolld Al ansuad

(A) Braga amoE AR, (B) cideld ey qE yuwoldl.
(C) wlsudll el o, (D) ot % Y38 WA Wl

Chlorophyll absorbs which of the wavelength of the Sun light ?

(A) Green & Red (B) Green & Blue

(C) Red & Blue (D) Red & Yellow
sallfEe el got ydusiasdl 568 aladoud dil &7

(A) dlel =4 aua (B) dldl i aiesljaid]
(C) e »id aedll/ el (D) ala s luil

Which among the following metal is highest electrical conductivity as well
as highest thermal conductivity?

(A) Gold (B) Silver

(C) Platinum (D) Iron

Al WL 56 tug el ay Rgd s duy Goi des o7
(A) w4 (B) gl

(C) @bk« (D) e

Desert Eagle I1 is a bilateral exercise between Indian Airforce and

(A) UAE (B) Saudi Arabia

(C) CQatar (D) Afghanistan

“Yme Goe- 27wl ourdly iy A wA __ qed Bualla sz 8,
(A) 3.0, (B) a1G2l 3B

(C) s&dlz (D) wsulAzdln
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The Motto of Rio Olympics 2016 is

(A) Inspire a generation (B) One world, one dream
(C) A new world (D) None of above
Aol vlaBus- 20164 3ot B,

(A) ~dl Udle das) Sy 3 w-ian
(B) s (A%, a5 s/ a- ael, a1 g
(C) w5 wd [a) = =~ qef
(D) Gualsd U4l 215 ym R

In June 2016, PM Narendra Modi inaugurated Salma Dam in
Province of Afghanistan

(A) Panjshir (B) Herat

(C) Nimruz (D) Kabul

Yri-201641, Ml asuid sl 3 WElel ssuadnt _ widul
Hel e Geae s o,

(A) iowslly (B) d&ud

(C) Al (D) s

Consider following statements regarding the ban imposed on Tennis star
Maria Sharapova :

1. She was caught using a prohibited drug “Meldonium™.

2. Her ban will extend for two years, till 2018

The correct statement(s) is/are

(A) Only 1 (B) Only 2

(C) Both 1 and 2 (D) Neither 1 nor 2

2 vendl B wandian ya ulely susid a4l @l e dl
Lo asll wleeilia o “dediFam’ Aad sl wsad ol edl,

2. qellA e ulen o ad e, S12d 3 2018 il 2l

Wl B w1 wEl &

(A) i1 (B) st 2

(C) 1 #+ 2, 61 (D) =i vo -

“Half Lion™ is the biography of authored by Vinay Sithapathi.
(A) Sharad Pawar (B) P. V. Narsimharao

(C) Dr. Kalam (D) Pranab Mukherjee

“elg A Bl By ko g guddl o wadgdid 8.
(A) e yar B) ldl. -:@ezu

(C) 4l seum (D) usld Y
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Consider following statements about Jnanpith Award -

. It is meant for Indian literateurs who write in Indian or European
languages. )

2. The recipient of Jnanpith Award 2015 is Raghuveer Chaudhary.

The correct statement(s) is/are

(A) Only 1 (B) Only 2

(C) Both 1 and 2 (D) Neither 1 nor 2

Adls Hlald suoid (A4 B 2uul 6l :

Lo o euadly dusl e &, 320 suadla 2aa 30Ruq susdiHn ai 8.
2. aetdls #idll 2015 Ana-uz, 4l gdla Aud 8,

vl [l 2 e @

(A) st | (B) A 2

(C) 1 =4 2, 84 (D) s ust =

Who was Poornimaben Pakvasa?

(A) She was known as Didi of Dangs.

(B) Recipient of Magsaysay award.

(C) Renowned classical singer of Carnatic Music.
(D) None of the above

YRMG wsal S8t sdl?

(A) dxil giol 218l a1 omelldl wdi.

(B)  duiisl AaEa widld dnde 8,

(C) sauizdl Aollani onelldl wwlly sulist,

D) Gudls T4l wis wer AR

2016 is the 400t death anniversary of

{A) Shakespeare and Charles Dickens

(B) Shakespeare and Thomas Hardy

(C) Shakespeare and Miguel de Cervantes (the author of *Don Quixote’)
(D) Only Shakespeare

2016 Al 4004 yeulalad ad 8.

(A) dsufia w4 wed Qs

(B) dsuflaz wa dnn el
(C) dsuliuz w1 [oye €l #ai-dls (‘A sdlsolle’-u Aws)
(D) Hist Asuluuz
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